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(1) = JRK (w0) & JSim w0 2 f I w2 be f you w2K – lexical entry for R

(2) = [λwa.[λwb.wb is compatible with what speakerw0 knows in wa]] (w0) & JSim w0 2 f

I w2 be f you w2K – via variable assignment function

(3) = [λwa.[λwb.wb is compatible with what speakerw0 knows in wa]] (w0) & JSim w0 2

speakerw2 be hearerw2K – via lambda conversion

(4) = [λwb.wb is compatible with what speakerw0 knows in w0] & JSim w0 2 speakerw2 be

hearerw2K – lexical entry for Sim

(5) = [λwb.wb is compatible with what speakerw0 knows in w0] & [λw.[λp.[λw’.w’∈p &

∀w”∈p, w” 6= w’ [dist(w’,w) < dist(w”, w)] ]]] (w0) (J2 speakerw2 be hearerw2K)) –

via lambda conversion

(6) = [λwb.wb is compatible with what speakerw0 knows in w0] & [λp.[λw’.w’∈p & ∀w”∈p,

w” 6= w’ [dist(w’,w0) < dist(w”, w0)] ]] (J2 speakerw2 be hearerw2K)) – via lambda

abstraction

(7) = [λwb.wb is compatible with what speakerw0 knows in w0] & [λp.[λw’.w’∈p & ∀w”∈p,

w” 6= w’ [dist(w’,w0) < dist(w”, w0)] ]] ([λw2.Jspeakerw2 be hearerw2K]) – function

application & lexical entry

(7a)= [λwb.wb is compatible with what speakerw0 knows in w0] & [λp.[λw’.w’∈p & ∀w”∈p,

w” 6= w’ [dist(w’,w0) < dist(w”, w0)] ]] ([λw2.[λx.[λy.y is in a contextually relevant

sense similar to x]] (hearerw2) (speakerw2)]) – lexical entry

(7b)= [λwb.wb is compatible with what speakerw0 knows in w0] & [λp.[λw’.w’∈p & ∀w”∈p,

w” 6= w’ [dist(w’,w0) < dist(w”, w0)] ]] ([λw2.speakerw2 is in a contextually relevant

sense similar to speakerw2 ]) – λ-conversion x2

(9) = [λwb.wb is compatible with what speakerw0 knows in w0] & [λp.[λw’.w’∈p & ∀w”∈p,

w” 6= w’ [dist(w’,w0) < dist(w”, w0)] ]] ([λw2.speakerw2 is in a contextually relevant

sense similar to hearerw2]) – λ-conversion

(0) = [λwb.wb is compatible with what speakerw0 knows in w0] &

[λw’. speakerw’ is in a contextually relevant sense similar to hearerw’ & ∀w”∈p, w”

6= w’ [dist(w’,w0) < dist(w”, w0)] ] – simplification

(α) = [λw’.w’ is compatible with what speakerw0 knows in w0 & speakerw’ is in a contex-

tually relevant sense similar to hearerw’ & ∀w”∈p, w” 6= w’ [dist(w’,w0) < dist(w”,

w0)] ]
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Lorem ipsum dolor sit amet, consetetur sadipscing elitr, sed diam nonumy eirmod

tempor invidunt ut labore et dolore magna aliquyam erat, sed diam voluptua. At vero

eos et accusam et justo duo dolores et ea rebum. Stet clita kasd gubergren, no sea

takimata sanctus est Lorem ipsum dolor sit amet. Lorem ipsum dolor sit amet, consetetur

sadipscing elitr, sed diam nonumy eirmod tempor invidunt ut labore et dolore magna

aliquyam erat, sed diam voluptua. At vero eos et accusam et justo duo dolores et ea

rebum. Stet clita kasd gubergren, no sea takimata sanctus est Lorem ipsum dolor sit

amet.

Lorem ipsum dolor sit amet, consetetur sadipscing elitr, sed diam nonumy eirmod

tempor invidunt ut labore et dolore magna aliquyam erat, sed diam voluptua. At vero

eos et accusam et justo duo dolores et ea rebum. Stet clita kasd gubergren, no sea

takimata sanctus est Lorem ipsum dolor sit amet. Lorem ipsum dolor sit amet, consetetur

sadipscing elitr, sed diam nonumy eirmod tempor invidunt ut labore et dolore magna

aliquyam erat, sed diam voluptua. At vero eos et accusam et justo duo dolores et ea

rebum. Stet clita kasd gubergren, no sea takimata sanctus est Lorem ipsum dolor sit

amet.

Lorem ipsum dolor sit amet, consetetur sadipscing elitr, sed diam nonumy eirmod

tempor invidunt ut labore et dolore magna aliquyam erat, sed diam voluptua. At vero

eos et accusam et justo duo dolores et ea rebum. Stet clita kasd gubergren, no sea

takimata sanctus est Lorem ipsum dolor sit amet. Lorem ipsum dolor sit amet, consetetur

sadipscing elitr, sed diam nonumy eirmod tempor invidunt ut labore et dolore magna

aliquyam erat, sed diam voluptua. At vero eos et accusam et justo duo dolores et ea

rebum. Stet clita kasd gubergren, no sea takimata sanctus est Lorem ipsum dolor sit

amet.
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